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2 b B E &F XN 3,238 A 3,226 A 6,464 A 6,326 A
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L HDOEFEESEREH 4288 A 4603 A 8,891 A 9086 A
2 b B E &F XN 3,235 A 3,225 A 6,460 A 6,327 A
2 b E E & XN 1,053 A 1,378 A 2431 A 2,759 A
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= = s 5 6,460 = 6,327 =
(BEERAEOELIRY) 0o = 0 =
(FTEEBREDAZHE) 0 = 0 =
52 b A M B E 6,155 = 6,062 =
5 b & O E 306 = 265 =
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1 HERFER 161.000 = 7 HHRER 3228390 =
2 ERZRYDR 24000 = 8 FEdE 37442 E
3 BRSNHEFDE 143230 = 9 |Exoccrexwicyas 46.000 =
4 /NBRR 429000 = 10 EEQOBELAKBERNES 100.000 E
5 BAKESR 591.000 = 11 RER 1,265.935 =
6 FEERHR 51.000 = 12 XHEFBELZL 78.000 E
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